(B R HCShBSES] I o Emﬁé'?j%ﬁ'ﬁl

A\VJ AW sRat

®
BFLATBAND E] M ELT5y bty

ERaER

18

PR R

0%

ISR ~<— (TPE)

98°C

ELTZSv RNV E

i

E2AVEZ) | e by u
AVh-Fybirazon
NV FARE:SUS 430

AWJ 7 jb—

BARTSvY

Ty bRV —
F BERRIER LS —

MNH -« - Fw bRILE—

ELTZSv RRAVE

ELT7SY F@NAYE

2NNy 7))V :SUS 304
ALk -FybhiSUS 304
N FAREISUS 304

BYNy IV KT Ay F

RV - Fv b FTAYF

INY RAAR 1 SPCC R T A F

BRIV b
//

[ P

9016

fths W’

Mgty . TSAM<— (TPE) MeEdls - TSR M<— (TPE) Mgty . TS A M<— (TPE) I
[YouTube]
1=sn0. iR | EE | kiR | RE ] e c H A>F— | tiks A e ATV L RABNA
m & PE TR | W | @®© |RVE]| B:N ) W) ] m B
PE10110-0020 20 21 25 | 0.6 | W3/8 | M6x25[27 | 68.6 | 1.2 28 |10Ex20% 200 PE10112-0020 PE10115-0020 PE10114-0020
PE10110-0025 25 34 25 | 0.6 | W3/8 |M6x25|27 | 72.0 | 1.5 28 |10EN% 200 PE10112-0025 PE10115-0025 PE10114-0025
PE10110-0030 30 2 25 | 0.6 | W3/8 | M6x25[27 | T6.4 | 1.5 28 |16E0% 160 PE10112-0030 PE10115-0030 PE10114-0030
PE10110-0040 | 40 48 25 | 0.6 | W3/8 |M6x25[27 | 79.4 | 1.5 28 |U@E0% 140 PE10112-0040 PE10115-0040 PE10114-0040
PE10110-0050 50 60 25 | 0.6 | W3/8 [M6x25(27 | 8.4 | 1.7 28 | 1fEx10% 100 PE10112-0050 PE10115-0050 PE10114-0050
PE10110-0065 65 76 25 | 1.0 | W3/8 |M8x25|27| 95.4 | 2.0 28 80 PE10112-0065 PE10115-0065 PE10114-0065
PE10110-0075 75 89 25 | 1.0 | W3/8 |M8x25|27|101.8| 2.0 28 60 PE10112-0075 PE10115-0075 PE10114-0075
PE10110-0100 | 100 | 114 | 25 | 1.0 | W3/8 | M8%25|27 | 114.4| 2.0 28 40 PE10112-0100 PE10115-0100 PE10114-0100
PE10110-0125 | 125 139 | 32 | 1.5 | W1/2 [M10x35| 45 | 153.3| 2.5 35 20 PE10112-0125 PE10115-0125 PE10114-0125
PE10110-0150 | 150 | 165 | 32 | 1.5 | W1/2 |M10x35] 45 | 166.1| 2.5 35 15 PE10112-0150 PE10115-0150 PE10114-0150
IFLATBAND B wireLos s
) A NVIA o
AL 9017
REt
EREEE Py} hEQzEN1ES TelEE)
0% ISAM<— (TPE) 98°C
+v bRIVE—
Fo RSEBALEAIL S —
AWJ 7)b—
BARTS v
ENH- - - Fy b RLE—
EL75v hAY R EL75v IV EL75v b3y K
RNk -Fvh:a1z=s0 RIVb-Fvb:SUS 304 NIV« Fy b RTAYF
NV RF{E:SUS 430 NV REE:SUS 304 JNY R 1 SPCC R T 4w+
glE TSAM— (TPE) Mgiils : TSXA<— (TPE) eigfls . TSAM— (TPE)
[YouTube]

o B | iR | BE | RiE | RE P AT c H A>F— | #ikg Ak ATVLR FTAY+ ATV LRBANA
& PE BE W | B:N (t) (w1 & & o & &
PE10210-0020 20 21 25 | 0.6 | 20 | M6X20 | 47 | 61.0 1.2 28 |1fEx20% 200 PE10211-0020 PE10215-0020 PE10214-0020
PE10210-0025 25 34 25 | 0.6 | 20 | M6x20 | 47 | 64.9 1.5 28 |1E0%E 200 PE10211-0025 PE10215-0025 PE10214-0025
PE10210-0030 30 42 25 | 0.6 | 20 | M6X20 | 47 | 69.1 1.5 28 | 16fExI0% 160 PE10211-0030 PE10215-0030 PE10214-0030
PE10210-0040 40 48 25 | 0.6 | 20 | M6x20 | 47 | T2.1 1.5 28 | 1E0% 140 PE10211-0040 PE10215-0040 PE10214-0040
PE10210-0050 50 60 25 | 0.6 [ 20 | M6x20 | 47 | 78.4 1.7 28 | 10fEx10% 100 PE10211-0050 PE10215-0050 PE10214-0050
PE10210-0065 65 76 25 | 1.0 [ 20 | M6x20 | 47 | 87.7 2.0 28 60 PE10211-0065 PE10215-0065 PE10214-0065
PE10210-0075 75 89 25 | 1.0 | 20 | M6x20 | 47 | 9%4.2 2.0 28 50 PE10211-0075 PE10215-0075 PE10214-0075
PE10210-0100 | 100 | 114 | 25 | 1.0 | 20 | M6x20 | 47 | 106.8 2.0 28 30 PE10211-0100 PE10215-0100 PE10214-0100
PE10210-0125 | 125 | 139 | 32 | 1.5 | 25 | M10X35 | 65 | 138.3 2.5 35 20 PE10211-0125 PE10215-0125 PE10214-0125
PE10210-0150 | 150 | 165 | 32 | 1.5 | 25 | M10x35 | 65 | 151.0 2.5 35 15 PE10211-0150 PE10215-0150 PE10214-0150

27



